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	Question Number
	Achievement
	Achievement with Merit
	Achievement with Excellence
	Judgement

	
	Investigate relationships between tables, equations and graphs
	Investigate relationships between tables, equations and graphs, using relational thinking.


	Investigate relationships between tables, equations and graphs, using extended abstract thinking.
	Single judgement is awarded for each question

	1a i

1a ii

1b i

1b ii
1biii
1c


	c=2n + 4

Graph drawn correct with n as a continuous variable.

n = 4c

One correct graph  

OR one correct equation

OR one correct statement

(see excellence column)
	Graph drawn correct with n= 1 to 8 as a continuous variable

n = 20

Two correct graphs

AND two correct equations

AND one correct statement
(see excellence column)
	Graph drawn correct from n = 1 to 8 as a discrete variable with no y – int.

Jack’s graph starts lower.

At the second arrangement they are equal.

After the second arrangement, Jack’s graph is higher.

Two correct graphs

AND two correct equations

AND two correct statement

Sally:  y = -50x2 + 950x + 1000

Jack:  y = 50x2 + 150x + 100

Sally gives more money up to 9 yrs.

At 9yrs. the prizes are equal

Jack gives more money after 9 yrs.
	Achieved = 2a’s

(from 1ai, 1aii, 1bi, 1c)

Merit = 2m’s

(from 1aii, 1bi and 1bii, 1c)

Excellence = 2e’s (from 1aii, 1biii, 1c)
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	Question Number
	Achievement
	Achievement with Merit
	Achievement with Excellence
	Judgement

	2ai
2aii
2aiii
2iv

	y = -1.25x + 25 (or equivalent)
1.25 km/min
One feature – words only

-y int changes OR gradient changes

Statement involving change of gradient (may be incomplete)

i.e. gradient is changing
	75 km/hr
Both features – words only
- y int lower and gradient less steep
Statement involving change of gradient (using values but not in context).

i.e. gradient is steeper in the second half
	Both features – words a quantitative des.
- lower y-int (0,20)

- gradient less steep (m = -1)

Statement involving change of gradient in context.
i.e.  The gradient for the first half of the trip is -1 which means 60 km/hr.  The gradient for the second half is -1.5 which means 90 km/hr therefore Jack is going faster for the second half of the trip.
.
	Achieved = 2a’s 

(from 2ai, 2aii, 2iii, 2iv)

Merit = 2m’s

(from 2ai AND 2aii, 2aiii, 2iv)

Excellence (both 2aiii and 2iv)
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	Question Number
	Achievement
	Achievement with Merit
	Achievement with Excellence
	Judgement

	3ai
3aii
3aiii
3b
3ci 
3c ii

	Vertex (2,4) or height of 4 m

Length of 3  (no algebraic working)

Graph shown as a curve but with incorrect y – intercept 

Exponential curve showing doubling. The y – intercept is at one but no labels indicated the starting value of k.

OR
Equation y = (2)x
	Vertex (2,4) AND height of 4 m

y = -x(x – 4)

equation with one number incorrect

Stating and solving either consistently an incorrect equation (or comparable complexity) or incorrectly solving the correct equation.
Graph shown as a curve with correct y – intercept (0,1)

Exponential curve showing doubling. The y-intercept at one with labels on the y – axis of k, 2k, 4k, 8k.

OR
Correct equation y = k(2)x
	y = -4(x – 6)2 + 5
-(x – 1)(x – 6) = 4

x2 – 7x + 10 = 0

(x – 5)(x – 2) = 0

x = 5 or 2

length = 3
Exponential curve showing doubling. The y-intercept at one with labels on the y – axis of k, 2k, 4k, 8k.

AND

Correct equation y = k(2)x
	Achieved  = 2a’s (from 3ai, 3b, 3ci)

Merit = 2m’s from (3ai, 3aii, 3aiii, 3b, 3ci, 3ciii)

Excellence = 1e from (3ai, 3aiii)

	Sufficiency
	Achievement
Minimum 2A
	Achievement with Merit
Minimum of 2M
	Achievement with Excellence

Minimum of 2E 
	


